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Note:

Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need
to write down the letter preceding the
selected answer.

RS
/i;% .

oW E MR & E o

FAER (60 4)
b EREA A E o B4 RJAM F AT
BKEFT R L FH o

1. The population of an area was
12 500 000 when corrected to the
nearest hundred thousand and
12 000 000 when corrected to
the nearest million. Which of the
following numbers could be the
possible population?

A. 12400 000

B. 12449 999
C. 12459 999
D

. 12500 000

. ¥ HEACRENMEE T 454 5
12 500 000 + YA B B it WAL £ & &
{54 % 12 000 000 ° vA TR —3A 7T
HEAZHEAD ?

12 400 000
12 449 999
12 459 999
12 500 000

o awy»

2. Which of the following is incorrect?

A. All prime numbers are odd
numbers except 2.

B. All odd numbers are not divisible
by 2.

C. If a number is divisible by 10, it is
divisible by 5.

D. All composite numbers are even
numbers.

2. TR IRIA RS L R SEIRAG ?
A TRT 24h 0 TR E AR FH o
B. B A ¥ $AR T AR 2 ok o
C. FI A BEH 10 H TR 0 JAR AL S
TR o
D. P & mEAR A B H o
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SECTION B (40 marks)
Working steps must be shown in
answering questions in this section
unless specified otherwise.

&R (40 %)
PRt R A5 B Sh 0 A2 ) A KR M) A B
Ay 3 H T o

31. The shopkeeper of a souvenir shop
packed 37.4 kg of beef jerky into
packets of 0.55 kg each.

(a) How many packets of beef jerky
did the shopkeeper pack? (Give
the answer only)

[2 marks]

(b) The shopkeeper could make a

profit of $96.5 per kilogram of

31. F12 )55 24 374 kg 09 2F M 42 45
mAF055kg — & o

(a) fEiT%ﬁFFﬂﬁiéy\ﬁié ya?
(RAFHEE)
[2 4]

(b) EEE B AT ALTH
$96.5 o 4m R Ju & 3 F A B

the beef jerky sold. How much B TS ) ?
profit would he make if he sold [4 5]
all the beef jerky?
[4 marks]
32. Three people jointly donated money | 32. Z AEHIBH LA EHHE  TEL
to a charity. The table below shows BN IREER Y o
the portion of the donation of each
person.
Kelvin Winnie Karen
Portion of Donation 2
IR 2 o 0.36 5 24%
(a) Who donated the most? Explain. (a) EIBHZ RS ? XEAZ o
[4 marks] [4 4]
(b) They donated $500 altogether. (b) M= AKIEK 500 T+ K
How much more did Kelvin L EHKSIBT 50 ?
donate than Karen? [4 5]
[4 marks]
17 © EEHABBARAT
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